



(3) $\frac{1}{x^2} = x^{-2}$ $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

(س) $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$

(ج) $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$

(د) $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$

(هـ) $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$
 $\frac{d}{dx} x^2 = 2x$

